BC Calculus – FDW 3rd Edition – Section 5.4 Even Answers

Quick Review 5.4

2. 
[image: image1.wmf]2sincos

xx

 To practice our trig identities, follow the solution below! (vs the short way!) 
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 ‘We’ were supposed to memorize this a long time ago!  8. 
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Section 5.4
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58. *Uh…why does the graph have an ‘x-axis’ when the independent variable is TIME???

At least use a ‘dummy variable’ such as ‘u’ other than ‘x’. Even ‘t’ would be better and then use ‘T’ for the upper limit of integration? Ok, ok… back to the answers!

**Note that the graph is just a v-t graph. The only major difference is that the integral function is defined with a = 0, so that our initial position is s(0) = 0 (meters on the x-axis?). 
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Now the definite integral of velocity gives displacement: 
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  (c) To find x(3) or xf , we can integrate from t = a  to  t = 3 and get: 
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. If we know the position when t = a (let a = 0, since s(0) = 0), we can find 
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, max!
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66. False. 
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 is a constant. The derivative of a constant (function) is zero.

68. D   70. E   72.(a) $9  (b) $10   74. 300 drums  
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 since y = f(x) is odd. Now flip the limits of integration (changing the sign) to get: 
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, an even integral function.

78. From #77 above, 
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      So 
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